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/Add/Subtrac

2. Write down the answers foi-

5 d 41-16
63-51 b 74-39 c 6038
a e h 180-49 =3
19039 el - 540 - 180
i 360-290 j 780-440 k 470-190 | 1. Copythe
= 10000 - 4700. !
m 2900 - 980 n 4400 - 2600 o 6600 - 3700 P a ‘31
3. Find:- el
a 3604770 b 1630-59 ¢ 5450+3900 . d 6740 - 4350 -
e 7650+3670 f 8880-2280 g 1530+9290 h 9780 - 8790. Bt
4. a  Atrainwith 163 passengers stops at a station. =
At the station 38 people get on the train. m 5
How many are there now on the train ? v
e
2 The garage charged Mr Grant £199 for parts and £104 for labour-
> 2. The
‘ How much was Mr Grant's total garage bill > af 1l
c Al S
ex earned £1560 per month and Drey earned £983, b
:l)) :aw much did they eqrn altogether »
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ow much more did Alex €arn than Drey >
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4. d  Of the 3616 miles from Glasgow to

Dubai, a plane had flown 2915 miles ‘ —
How much further had it to travel ?

Duncan won £1300 on a scratch card,
He bought a new laptop for £890.

How much had Duncan left 2

f  Shona has 6400 stamps in her collection
Four thousand five hundred of them are British

How many stamps in her collection are not British ?

g Last year, Barry sent 6520 text messages.
This year he sent 4370 messages.
(i) How many text messages did Barry send in total 2
(ii)  How many more messages did he send last year ?

Add/Subtract - Extra Practice
Show all your working for this exercise.

1. Copy the following and find the answers :-

a 352 b 469 c 386 d 978
+168 +357 +566 +213

e 626 f 5003 g 3456 h 7374
- 386 + 3087 +5678 - 5895

i 3000 J 7777 k 6052 ol 10000
- 893 +1999 - 3463 - 8409

m 5389+ 364 n 2345+ 6666 o 8527-5521 p B8000- 374

q 5802+ 4299 r 7006 - 2967 s 8429 +368 + 10000 - 7391.
ers and 4188 Dunfermline supporters \L.;

2. There were 2872 Raith Supporf
at the local derby match.
a  How many supporters were there altogether ?

i 2
b How many more Dunfermline than Raith supporters were there ?
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35000 copies per week.

local newspaper prints
© e eld 53 458 copies las" week e euihiortine
How many copies were not sold? it itisa
A judge fines a man £1250 for breach - ifitisa
d of the peace plus £1950 damages. rarplers
How much in total did the man have to oy,
e Harry bought 3250 bricks o build a wall. :
When he had finished, he found he had 1. Roundto
280 bricks left over. a 68
How many bricks had Harry used to build the wall > e T
i 16
m 788
4. Any line of three numbers on each diagram below must total 15. o Rk
Copy and complete each diagram using the numbers 1 to 9. 63
. b e 45
IaE
m 2
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